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K= 4 26 1 630 119 658 11 1,445 1,648 87.7 13,818| 13,791 100.2
A H 115 288 1 404 441 91.6 3,895 3,866 100.8
H g 5 2 225 32 159 9 432 504 85.7 4,128 4,419 93.4
VA 4 87 16 37 4 148 148  100.0 1,303 1,190 109.5
AR 3 135 138 108] 1278 998 1,008 99.0
SUBARU 173 22 195 221 88.2 2,038 1,938 105.2
A INY 25 25 20| 1250 187 217 86.2
=7 1 56 6 18 2 8 91 104 87.5 768 922 83.3
NN 57 3 1 38 15 114 123 92.7 1,033 1,020 101.3
EE5; 34 3 8 10 55 59 93.2 538 501 107.4
ZHESTD 35 3 34 9 81 75|  108.0 771 671 114.9
UDKZ 77 A 16 3 19 22 86.4 136 166 81.9
& D [E] PE 6 1 16 19 42 371 1135 315 228 138.2
i) A H 7 200 8 33 1 249 276 90.2 2,177 2,479 87.8
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